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QUESTION 1

XML and XML Schema are examples of: 

A. custom design standards commonly used by service-oriented solutions 

B. custom design characteristics commonly found in service-oriented solutions 

C. industry standards commonly used by service-oriented solutions 

D. industry characteristics commonly found in service-oriented solutions 

Correct Answer: C 

 

QUESTION 2

A common performance consideration when designing agnostic services is the fact that they contain generic processing
logic which can decrease performance overhead, thereby reducing performance requirements. Select the correct
answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Non-agnostic solution logic is logic that is considered single-purpose because it is unique to a specific task, and
therefore not useful to other tasks. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

Service-oriented architecture must be designed to be both integration-centric and silo- based. 

A. True 

B. False 

Correct Answer: B 
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QUESTION 5

To qualify as a service composition, at least participating services need to be present. Otherwise, the service interaction
only represents a point-to-point exchange. 

A. two 

B. four 

C. six 

D. eight 

Correct Answer: B 
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